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Correct square & cuberroot

1. 0.339 + ……M1
0.3309  +  3(198.4)
0.3309 +  595.2
(595.5309)-2
=      Correct reciprocal

M1
= 		


=  M1

 ……..A1                                     4 


2. 



 …….M1

  …………..M1

         
            ……………..A1         3

3.      ………M1

A=100,000  +  50,000=150,000

          ……….. M1
       
       0.25 r=10.7        (1d.p) …….A1



4.    …………….M1

   …………………….  M1

 	
          …………………  A1	 3		

5. 2 + 4 3 4 	
 ……. B1


0.01
82  ………… M1
164  …..M1  ( substitution of -0.01)


 ……..A1                              3


6. 
    …….. M1

     ………M1
      
     ……A1  			3  

7. Max value 
     …….M1


Absolute error      …….M1

	
    A1
						3

8.  ………..B1


 ………M1

   ………A1                     3


9.   

 2   ……..M1

2

P2

	   ……….A1


10. Let the pay for the craftsman be y

    M1

    M1

……
    A1
					 3


11.  Cross-section area of the pipe 
2
       Vol. drained per sec
	      …….  M1

	3
        Vol. drained per day
   M1
         3    A1
        
	
       	B1           4

12.  Arabica –  shs 4700
Robusta –   shs.4200
     M1


        A1
Arabica : Robusta = 4:1   ….B1


13. Area scale factor = determinant =
		 m1
 11   ……  m1

	    =5



	  …….  A1                         3

14.  2 2

………. B1
2 …….M1



     A1
3

15.  2
 
  	
        
 	  ……… B1

       
        t=3    or t=1 ……… B1
      or  =1
                 
     B1	 B1

16.   M1  
                                 B1
	
		           ……… A1

          B1	



SECTION  B

17. (a)  Paye (p.a) = 5800x12
	                   = kshs.69,600/=
      Gross tax   = 69,600 + 420 x 20
	                   = 78,000      B1
     Taxable income Tax (Kshs)
       9600 x 2       19,200     M1
       9600 x 3       28,000     M1
        y  x  5           30,000     M1
                              78,000
   5=30,000
   =K€ 6000          A1
  Gross annual salary
    =K€ 25,200            B1
(b)  Pt    =52,477.50

      =52,477.50  M1  M1
             M1
                      M1	


18.  (a) Complete the table below for 		(2 marks)
	X
	-5
	-4
	-3
	-2
	-1
	0
	1
	2

	Y
	-5
	15
	19
	13
	3
	-5
	-5
	9


 										 B2
(b)  On the grid provided draw the graph of  for 
											(3 marks)
     (c) i) Use the graph to solve the equation
								(2 marks)

	   ii) By drawing a suitable straight line on the graph, solve the equation
              						(3 marks)
[image: ]






19. (a) (i) PQ     B1

      ii)      B1
     iii)        B1
(b) OTpk +  …….(i)   M1
      OT  ……. (ii) M1
     …….. M1

K=3 – 3h

h


 …… B1
  …….. B1

  …….B1
c)   …………. B1













20. (a)           M1
	(Avoid improper fraction.        Give it as a mixed number)
	    M1
	
 ……. A1
          B1  	(Avoid improper fraction.  Give it as a    
								   Mix Number.)
 (b) n                M1

               A1

c)  n= 
        n
       
                ……………       B1     
      100 …………. M1
           A1





















21.  (a) 
C

D
6cm
x


4cm


10
A●

●B

       25cm






	(b) DC=EF=AX  …..B1 for the length
	       
	          ………A1
	           2
	     Reflex Angle=    ………..B1
                   Angle subtended by belt 
	      On small circle	            ….B1
	       Minor arc DE M1 A1

	       Major arc CF….M1 A1

	       Length of belt    …..M1

…….. A1					10





















22.(a) 

(b)      =      A1
                                                                                                                                                  (All coordinates)
											    

(c)     M1   

  A1   (Must be in coordinate form)

(d)   (matrix equ)


                          M1   formation of 4 equations
           
           
               
                
               

	     A1




















23. (a) Modal class
             40-49     B1
      (b) 
	Age
	Frequency
(f)
	Midpoint 
	d=
x-44.5
	fd
	d2
	Fd2
	cf

	10-19
20-29
30-39
40-49
50-59
60-69
70-79
	2
4
4
8
6
3
2

	14.5
24.5
34.5
44.5
54.5
64.5
74.5
	-30
-20
-10
0
10
20
30
	-60
-80
-40
0
60 M1 
60
60

	900
400
100
0
100
400
900
	1800
1600
400
0
600 M1
1200
1800

	2
6
10
18
24
27
29
M1



i) 



ii) Standard deviation
          
      A1

iii) Median


            

=     A1















A
B














D
   1
D
D
1
D
  1
D
    1
D
    1
D
    
D
    
D
    1
D
    
D
   D

24.  (a)  
	



	













i)     B1
ii)        m1
       A1

iii) 
		            m1
         
  A1

(b) (i)  
      m1



      A1
   
(ii)      m1

					

  A1
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